RHN2FEXRLEFPRERESTIT RRFEER

[—ik=Et]
BA
= AEEFEHNFETERS HLRER wm E (REE)
1. RIEERES 516,933 628,329 A 111,396
2 A & & 831,600 851,400 A 10800[z% 24844 @9,900
- BT RYUSE 410,000 420,000 A 10,000
- S ERYSE 421,800 431,400 A 9,600
3. WEHRAE 140,000 200,000 A 60,000[70% @2,000M
. BusaiHRAS 0 0 0
3PN 1,467 271 1,196 |87 &H BIFH
& =t 1,490,000 1,680,000 A 190,000
mH
& B REEFEHENEETER| L&EEBR wm B (REE)
1. =58 100,000 120,000 A 20,0008 BB (ZH
R, BALXSEKE - FBEEELOXR
2. BEEB 500,000 500,000 0|=DIEE) - £EBH - FHELE (B - =
%) - ZFELEIY— 2 /ER
3. BBE& 50,000 150,000/ A 100,000|EB%: - EEIL - ZRETILNLEEA
4. WEIFLEE 400,000 420,000 A 20,000 A&E5
5. REEEEE 350,000 400,000 A 50,000 B AKIRIE, BRFOBA
6. Tl 90,000 90,000 0
& =t 1,490,000 1,680,000 A 190,000
[EiesEt])
X & HEES R = wmoOE
430,074 R3.4.4 YRR 294 FEREIT(H30.4.4F8 )
430,037 R3.3.25  |FA30FEEEI(H31.3.2578N)
JATEHEIT & 881,838 R2.9.13 |T0AEXRSFERELOEIELEA(RLIIZFEA)
420,000 R3.3.4 SHTTEEREIL(R2.3.478 )
400,000 SH2EEREIL
BIAEFEESRE 2,561,949




